01-012

REAR FLIP SEAT
WILL FIT YAMAHA® DRIVE®
INSTALLATION INSTRUCTIONS

INCLUDED:

2 Front Brackets

Lean Back Cushion
Seat Bottom Cushion

E
Front Bracket Brace Seat Frame
Bagwell Bracket D ! Sup;?:rtt%i‘gléket
.mlmmm 2 Footrest 2 Seat Back
HD Bracket Brackets Brackets 2 Armrests Footrest

Remove hardware from struts and take
off canopy. Retain hardware.

Remove hardware from gutters. Remove
gutters by sliding them upward. Retain
hardware and gutters.

N




/- L /
\ / AN\ /
\irear sttuts fro both sides.
/'é':;m a/a/ware /’TL
./ / 3

Remove motor cover panel by popping
out plastic rivets. Retain hardware.

Remove seat back. Retain hardware.

Take off basket by removing hardware
located inside motor compartment.
Retain hardware.

N

/\_ Ve~ \/\/\}



\ \ \. \
\ ont brack‘ets into goIf cart. Install
/M/rd arere oved St

Attach rear struts to front brackets using
hardware retained from Step 3.

Attach front bracket brace to front
brackets using 8mm nylock nuts from
Pack 1.

Attach seat back to front brackets using
hardware retained from Step 4.




\

XX

bolts frem bagwell.
/16" drill

Remove fact
Enlarge hole b Briling using

it ,
' IMPORTANT: Be su@rill all the way
tthugh the frame.

IMPORTANT: Do not tighten hardware
until Step 20 is complete.

Attach seat frame to brackets using
hardware from Pack 1.

/C/ut plaﬁder Wéwell if ry@

REMOVE REMOVE

=) ©)

©

Attach bagwell bracket using hardware
from Pack 2.

Attach seat frame to bagwell brackets

using hardware from Pack 1.




4
L

y
.

N W NGING
NN

\ \
ch seat back support and armests to
// / é}fné‘uz:l‘; waregf?om;%ck 8

\\

./\/ >

Use rubber spacers from Pack 3 between
seat back support and armest as shown.

Attach armest to rear portion of seat
frame using hardware from Pack 3.

(A) Attach footrest to bagwell bracket s
using remaining hardware from pack 1.

(B) Attach footrest brackets to footrest
and armest using remaining hardware
from Pack 3. y y,




\ :
\ﬁ\hseat kets to seat

ack “usin re o

ighten ardWare

/
(/

4

Attach seat back to seat back support
using hardware from Pack 5. Tighten all
hardware.

1. Place HD bracket on flip seat as shown.
Align bracket holes to the flip seat mounting
holes.

2. Make sure the thickest part of the seat
bottom points towards the footrest. Center
seat bottom from left to right on flip frame.
Press cushion firmly against HD bracket
and seat frame. Using provided hardware
from pack 5 tighten the seat bottom to seat
frame as shown.

Using hardware retained from Step 1, re
attach canopy as shown.

\\/‘

VAN N\~ \/\/\}




4
L

- N NNGNGING
_ MA RE PACK
\PAE:\% \ \ ; Madjax” Rear Flip Seat : Fits Yamaha® Drive”
/ 7/ _ 5M\f;/1/¢4EX BoOLT A

1
1‘2\ 10X20MM FLAT WASHER i
\6
rd

\1 OMM LOCK NUT
7/ 8MM LOCK NUT

8 RUBBER WASHER
10x90MM HEX BoOLT

2
. 10x20MM FLAT WASHER
2 10MM LOCK NUT

\t.
4

PAcCK 2

6 10x70MM HEX BoOLT

2 10X40MM COUNTERSUNK
14 10xXx20MM FLAT WASHER

8 10MM LOCK NUT
2 RUBBER SPACER Seat cushions not included on Seat Frame Only Kits.

8 RUBBER WASHERS

PACK 3

4 6xXx25mMM HEX BoLT

4 6MM LOCK WASHER

4 6X17MM FLAT WASHER

PACK 4
2 10xXx45MM HEX NUT

4 10x20MM FLAT WASHER
2 10MM LOCK NUT

2 RUBBER WASHER

PACK 5

8 8X35MM COUNTERSUNK

of the G-Series of Golf Carts, or any of Yamaha'’s trademarks, word marks, or products is only for purposes of identifying golf carts with which this Madjax‘product is compati
Madjax products are aftermarket parts and are not original equipmew. Madjax is Wmected to, affiliated‘with, sponsored by, or endorsed by Yamaha or any of its

or subsidiary companies. \ / \ /.. \ \



